[ number of missing inner layers |

1 —| Entries 6608
E + [ Mean 0.1482
r : std Dev 0.4503
1 ] N S SO SO S P ———
107 **Entries 6729
F : Mean 0.1593
L . Std Dev 0.472
2 e N |
10 E i [Entries 6486
F : Mean 0.1526
3 I . |.Std Dev 0.4557
10 P e ey .-.-..|
10—4 SRRREEEEELIRLEECILRE R Beeeeleeanloaiilos
10 e :
o108
= E
g 12f
11
-
0

[ number of missing outer layers |

1

Entries 6608
: Mean 0.8113
N Std Dev 2.081
. B |
: " TEntries 6729
: Mean 0.8615
. |.Std Dev 2.129
i [Entries 6486
+ | Mean 0.8091
. |Std Dev 2.092
L/ HTTTT—
........ g
e
20 25

m—m— DQMstep3_TT_CKF

—| =—e== DQMstep3_TT_default
@ — DQMstep3_TT_defaultNEWT203

<hits>vs n
w
a1

30

25

20

15

10

1.5

Ratio
N

o
©
C

|
(¢ B B

iyl

3

track n

[ N of simulated tracks vs pT |

10

10°°

- - Entries 218232

P S el Mean 2.089

. Std Dev 6.148

: |

F Entries 218232

. S Mean 2.089

E N Std Dev 6.148

F H H |

B : Entries 218232

|, L] Mean 2.089

E : Std Dev 6.148
Leeeeeenns heeeaneanas P A I

E . |

R =—m
—
=
o
x
x
X
T
¥
x
B
S8
]
=4
=4
0
0
0o
o

o o

Ratio

10°

10?

10::5

—| Entries 6608
17.43

4.429

""" P R |
..... Entries 6729
: | Mean 17.45

Std Dev

Entrie 6486
Mean 17.66
Std Dev

Irisyrinyi]

10 15 20 25 30 35 40
track hits

- - Entries 6716
—IE ............ A Mean 12.29
10 3 : Std Dev
10—2F ...........................
[ Entries
__________________________ Mean 12.52
Std Dev 23.43
108 " PP |
o AT H :
1.2 3 7 S TR Frrmememeeeed A e i Y
GTEISRRRLE B £ ERRRERREEE T - 11
- T 44

iy
o
I8

10 107 10°
T



	Contents
	Page 1


